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1. check if the word is invariable:
1.1 using the prefix table remove the largest prefix associated with the word.

1.2 if the remaining part of the word is in the list of invariable words then:

1.2.1 if the prefix is compatible with the word and the variable-invariable
flag is false then return the type; value; grammatical rule

1.2.2 else go to step 2 below.
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2. Analyze the word assuming that is variable.
2.1 Using the suffix table remove the largest suffix associated with the word.
2.2 Using the morphology pattern list, locate patterns that match the word.
A pattern is said to match a word if it satisfies the following conditions:
* the pattern is equal to the word in length.
* the root identified by the pattern is in the root table.
* the removed suffix and prefix is compatible with the selected pattern.
* the root is compatible with the pattern.

2.3 For each matching pattern return the type of the corresponding word,
the root, the suffix and prefix.

2.4 Add the removed suffix back to the word letter by letter, starting with the
first letter in the suffix. For each letter added repeat steps 2.2 and 2.3.

2.5 Add the removed prefix back to the word letter by letter, starting with the
first letter in the prefix. For each letter added repeat steps 1 and 2.
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